
  

APRIL 2021 60556/CYA5A 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. What do you mean by management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. Mention the objectives of management accounting.  

 ÷©»õsø© PnUQ¯¼ß ÷|õUP[PøÍ SÔ¨¤kP.  

3. Write a note on trend analysis.  

 ÷£õUS £S¨£õ´Ä £ØÔ SÔ¨¦ GÊxP.  

4. List out the tools of financial statement analysis.  

 {v°¯À AÔUøP £S¨£õ´Âß ~m£[PÒ (A) P¸ÂPøÍ¨ 
£mi¯¼kP.  

5. Mention the modes of expressing ratios.  

 ÂQu[PøÍ öÁÎ¨£kzx® £À÷ÁÖ ÁÈPøÍ SÔ¨¤kP.  

6. What are profitability ratios? 

 C»õ£ ÂQu[PÒ ¯õøÁ? 

7. Define - Leverage.  

 ö|®¦U÷PõÀ & Áøμ¯Ö.  

8. Write a note on ‘Flow of Funds’. 

 {v Kmh® £ØÔ SÔ¨¦ ÁøμP.  

9. What are objects of cash from operations? 

 ö\¯À£õmi¼¸¢x Á¸® öμõUPzvß ÷|õUP[PÒ ¯õøÁ? 

10. What is master budget? 

 uø»ø© ÁμÄ&ö\»Ä vmh® GßÓõÀ GßÚ? 

11. Mention the objectives of budgetary control. 
 vmhU Pmk¨£õmiß ÷|õUP[PøÍ SÔ¨¤kP.  
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12. Sales - Rs. 25,00,000 
 P/V ratio - 30% 
 Fixed cost - Rs. 5,00,000 
 How much is the profit? 
 ÂØ£øÚ & ¹. 25,00,000 
 »õ£&ÂØ£øÚ AÍÄ ÂQu® & 30% 
 {ø»a ö\»ÄPÒ & ¹. 5,00,000 
 C»õ£® GÆÁÍÄ? 

PART B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. What are the various functions of management accounting? 
 ÷©»õsø© PnUQ¯¼ß £À÷ÁÖ £oPÒ ¯õøÁ? 

14. Distinguish between  funds flow statement and cash flow 
statement.  

 {v Kmh AÔUøP°¼¸¢x, öμõUP Kmh AÔUøPø¯ 
÷ÁÖ£kzxP.  

15. From the following below sheet extracts, compute trend 
percentages. Take 2010 a base year.  

Particulars 2010 
Rs. 

2011 
Rs. 

2012 
Rs. 

2013 
Rs. 

2014 
Rs. 

2015 
Rs. 

Stock 1,50,000 1,70,000 1,90,000 2,30,000 2,20,000 2,00,000 

Debtors  1,40,000 1,20,000 80,000 90,000 1,00,000 1,00, 000 

Cash 60,000 50,000 50,000 60,000 90,000 1,00,000 

Current liabilities  3,00,000 3,20,000 3,00,000 2,80,000 2,40,000 2,00,000 

 RÌÁ¸® C¸¨¦{ø» SÔ¨¤ß £Sv°¼¸¢x GkUP¨£mh 
ÂÁμ[PÎ¼¸¢x ÷£õUS Ãuzøu PnUQkP. ÷©¾® 2010 I 
Ai¨£øh BshõP öPõÒÍ ÷Ásk®.  

ÂÁμ[PÒ 2010 
¹. 

2011 
¹. 

2012 
¹. 

2013 
¹. 

2014 
¹. 

2015 
¹. 

\μUQ¸¨¦ 1,50,000 1,70,000 1,90,000 2,30,000 2,20,000 2,00,000 

PhÚõÎPÒ 1,40,000 1,20,000 80,000 90,000 1,00,000 1,00, 000 

öμõUP® 60,000 50,000 50,000 60,000 90,000 1,00,000 

|h¨¦ 
 ö£õÖ¨¦PÒ 

3,00,000 3,20,000 3,00,000 2,80,000 2,40,000 2,00,000 
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16. From the following information : Calculate (a) current ratio  
(b) liquidity ratio (c) absolute liquidity ratio.  

 Rs. 

Cash 18,000

Debtors  1,42,000

Closing stock 1,80,000

Bills payable 27,000

Creditors 50,000

Outstanding expenses 15,000

Tax payable 75,000

 RÌPõq® ÂÁμ[PøÍ öPõsk (A) |h¨¦ ÂQu® (B) }º© 
ÂQu® (C) •Êø©¯õÚ }ºø© ÂQu[PøÍ Psk¤i.  

 ¹. 

öμõUP® 18,000

PhÚõÎPÒ 1,42,000

CÖva \μUQ¸¨¦ 1,80,000

ö\¾zuØS›¯ ©õØÖa^mk 27,000

PhÜ¢÷uõºPÒ 50,000

öPõk£h ÷Ási¯ ö\»ÄPÒ 15,000

Á› ö\¾zu ÷Ási¯x  75,000

17. Calculate the cash from operations.  

 Balance as on  

 31.3.2009
Rs. 

31.3.2010
Rs. 

Stocks 10,000 12,000 

Debtors 15,000 20,000 

Creditors 5,000 7,500 

Bills receivable  5,000 8,000 

Outstanding expenses 3,000 5,000 

Bills payable 4,000 2,000 

Prepaid expenses 1,000 500 
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 ö\¯À£õkPÎ¼¸¢x Á¸® öμõUPzøu PnUQkP.  

 C¸¨¦PÒ 

 31.3.2009
¹. 

31.3.2010 
¹. 

\μUQ¸¨¦ 10,000 12,000 

PhÚõÍºPÒ 15,000 20,000 

PhÜ¢÷uõº 5,000 7,500 

ö£Öu¾US›¯ ©õØÖa^mk 5,000 8,000 

öPõh£h÷Ási¯ ö\»ÄPÒ 3,000 5,000 

ö\¾zuØS›¯ ©õØÖa^mk 4,000 2,000 

•ßTmi÷¯ ö\¾zv¯ ö\»ÄPÒ 1,000 500 

18. With the following data for 60% activity, prepare a budget for 
80% activity.  

 Materials : Rs. 10 per unit 

 Wages : Rs. 6 

 Factory O.H : Rs. 6,000 (20% fixed) 

 Administration O.H. Rs. 2,400 (10% variable)  

 Assume that production at 60% activity is 240 units.  
 R÷Ç öPõkUP¨£mh 60% EØ£zv vÓÝUPõÚ ö\»ÄPøÍ 

Ai¨£øh¯õP öPõsk 80% EØ£zv vÓÝUPõÚ ö|QÌÄ 
©v¨¥mk vmhzøu u¯õ›UPÄ®.  

 ‰»¨ö£õ¸mPÒ & ¹. 10 Kº A»QØS  

 T¼ & ¹ 6 

 öuõÈØ\õø» ÷©Øö\»ÄPÒ & ¹. 6,000 (20% {ø»¯õÚx)  

 {ºÁõP ÷©Øö\»ÄPÒ & ¹. 2,400 (10% ©õÖ£k®) 

 60% vÓÝUPõÚ EØ£zv 240 A»PPÒ GÚU öPõÒP.  

19. The following data relate to ABC company : 

 Output and sales 40,000 units, sales price per unit Rs. 15, 
material and labour cost per unit Rs. 8.  

 Production overheads : 

 Variable Rs. 2 per unit, fixed Rs. 50,000, other overheads  
Rs. 1,10,000. 

 Prepare income statement under absorption costing.  
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 ABC GßÓ {ÖÁÚzvß ÂÁμ[PÒ RÌÁ¸©õÖ, öÁÎ°À ö\ßÓx 
©ØÖ® ÂØ£øÚ 40,000 A»SPÒ, Kº A»S ÂØ£øÚ Âø» & ¹. 
15, Kº A»QØPõÚ ‰»¨ö£õ¸mPÒ ©ØÖ® EøÇ¨¦ ö\»Ä & ¹. 
8. 

 EØ£zv ÷©Øaö\»ÄPÒ : 

 ©õÖ£k® ö\»ÄPÒ Kº A»QØS ¹. 2, {ø»a ö\»ÄPÒ ¹. 
50,000, ©ØÓ ö\»ÄPÒ ¹. 1,00,000.  

 Dº¨¦ AhUPÂø»°À Á¸©õÚ AÔUøPø¯z u¯õ›UP.  

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Explain the limitations of management accounting. 

 ÷©»õsø© PnUQ¯¼ß SøÓ£õkPøÍ ÂÁ›.  

21. From the following details, prepare a statement of propretary 
funds : 

 (a) Long term loans - 50,000 

 (b) Working capital - 80,000 

 (c) Reserves to capital - 1:2 

 (d) Current ratio - 2 times  

 (e) Liquid ratio - 1.4 times  

 (f) Fixed assets to proprietors funds - 0.6 

 (g) There are no intangible assets.  

 RÌPõÝ® ÂÁμ[PÎ¼¸¢x E›ø©¯õÍº {v AÔUøPø¯ u¯õº 
ö\´P.  

 (A) }sh Põ» Phß & ¹. 50,000 

 (B) |øh•øÓ •uÀ & ¹. 80,000 

 (C) Põ¨¦PÎ¼¸¢x •uÀ & 1:2 

 (D) |h¨¦ ÂQu® & 2 •øÓPÒ  

 (E) }º© ÂQu® & 1.4 •øÓPÒ  

 (F) {ø»¯õÚ ö\õzv¼¸¢x E›ø©¯õÍº {v & 0.6 

 (G) G¢uÂu PsqUS ¦»¨£hõu ö\õzxPÐ® CÀø».  
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22. From the following balance sheets at Aravind Ltd, prepare a 
cash flow statement.  

Liabilities  2010 
Rs. 

2011 
Rs. 

Assets 2010 
Rs. 

 2011 
Rs. 

Share capital 4,00,000 5,00,000 Cash 60,000  94,000 

Trade creditors 1,40,000 90,000 Debtors 2,40,000  2,30,000 

Profit and loss a/c 20,000 46,000 Stock 1,60,000  1,80,000 

 Land 1,00,000  1,32,000 

 5,60,000 6,36,000  5,60,000  6,36,000 

  AμÂ¢z ¼ªöhmiß RÌÁ¸® C¸¨¦{ø» SÔ¨¤¼¸¢x öμõUP 
Kmh AÔUøP°øÚ u¯õ›UP.  
ö£õÖ¨¦PÒ 2010 

¹. 
 2011 

¹. 
ö\õzxUPÒ 2010 

¹. 
 2011 

¹. 

£[S ‰»uÚ® 4,00,000  5,00,000 öμõUP® 60,000  94,000 

Â¯õ£õμ PhÜ¢÷uõº 1,40,000  90,000 PhÚõÎPÒ 2,40,000  2,30,000 

C»õ£ |mh P/S 20,000  46,000 \μUQ¸¨¦ 1,60,000  1,80,000 

    {»® 1,00,000  1,32,000 

 5,60,000  6,36,000  5,60,000  6,36,000 

23.  Prepare a flexible budget for production at 80% and 100% 
activity on the basis of the following information : 

 Production at 50% capacity - 5,000 units 

 Raw materials - Rs. 80 per unit  

 Direct labour - Rs. 50 per unit  

 Direct expenses - Rs. 15 per unit  

 Factory expenses - Rs. 50,000 (50% fixed) 

 Administration expenses - Rs. 60,000 (60% variables)  
 RÌPsh ÂÁμ[PøÍU öPõsk EØ£zv vÓß 80% ©ØÖ® 100% 

EÒÍÁõÖ J¸ ö|QÌÄ ÁμÄ ö\»Ä vmhzøu u¯õ›UPÄ®.  

 50% öPõÒÍ»ÂÀ EØ£zv - 5,000 A»SPÒ 

 ‰»¨ö£õ¸mPÒ - ¹. 80 Jº A»QØS 

 ÷|μi T¼ - ¹. 50 Jº A»QØS 

 ÷|μi ö\»ÄPÒ - ¹. 15 Jº A»QØS 

 öuõÈØ\õø» ö\»ÄPÒ - ¹. 50,000 (50% {ø») 

 {ºÁõPa ö\»ÄPÒ - ¹. 60,000 (60% ©õÖ£k®)  
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24. From the following details state which product is more profitable 
to manufacture? Assume, time as the key factor.  

 Product A 
(per unit) 

Product B  
(per unit) 

 Rs. Rs. 

Materials 24 14 

Labour (Re. 1 per hour) 2 3 

Variable overhead (Rs. 2 per hour) 4 6 

Sale price 100 110 

Standard time to produce (in hrs) 2 3 

 RÌPõq® ÂÁμ[PøÍU öPõsk, G¢u ö£õ¸Ò AvP C»õ£® 
EÒÍx GÚ Psk¤i, ÷©¾® Põ»zøu AÍÄ ÷Põ»õP 
GkzxUöPõÒP.  

  ö£õ¸Ò A 
(Kº A»S)

ö£õ¸Ò B  
(Kº A»S) 

 ¹. ¹. 

‰»¨ö£õ¸mPÒ 24 14 

EøÇ¨¦ (¹. 1 J¸ ©oUS) 2 3 

©õÖ£k® ÷©Øö\»ÄPÒ (¹. 2 J¸ ©oUS) 4 6 

ÂØ£øÚ Âø» 100 110 

EØ£zv ö\´¯ {ø»¯õÚ ÷|μ® (©o°À) 2 3 

————————— 


